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QUESTION 1
What is true about data guard set up with fast-start failover (FSFO) in Oracle Cloud Infrastructure (OCI)?

A. The best practice for high availability and durability is to run the primary, standby, and observer in separate
availability domains (ADs).

B. When you configure data guard using OCI console, the default mode is set to maxprotection.
C. You cannot create the standby DB system in a different AD from the primary DB system.

D. You cannot use database command line interface (CLI) to set up data guard with FSFO.
Correct Answer: A

Reference: https://docs.cloud.oracle.com/iaas/Content/Database/Tasks/usingDG.htm

QUESTION 2

Which scaling option does Database Cloud Service (DBCS) on Bare Metal Shape offer?
A. network bandwidth

B. CPU

C. storage

D. memory

Correct Answer: C

Reference: https://cloud.oracle.com/iaas/database/faq

QUESTION 3

Which two statements are true about an Oracle Cloud Infrastructure object storage bucket? (Choose two.)
A. You can associate a bucket with multiple compartments

B. You cannot change a bucket from private to public after it is created

C. You can associate a bucket with only a single compartment

D. You cannot edit or append data to an object, but you can replace the entire object

Correct Answer: CD

Reference: https://docs.cloud.oracle.com/iaas/Content/Object/Tasks/managingbuckets.htm

170-932 PDF Dumps | 120-932 Practice Test | 120-932 Exam Questions


https://www.passapply.com/1z0-932.html
https://www.passapply.com/1z0-932.html
https://www.passapply.com/1z0-932.html

VCE & PDF https://lwww.passapply.com/1z0-932.html|
2024 Latest passapply 120-932 PDF and VCE dumps Download
PassApply.com

QUESTION 4

A new employee has just started working for your company. You create an Oracle Cloud Infrastructure user account for
this employee, following which they are able to log in, but still cannot create any resources.

What should you do to resolve this?
A. Send the employee API Signing Keys to log in.
B. Delete the account and create another one.

C. Make sure that the employee is logging in to the Oracle Cloud Infrastructure account from your corporate network
only.

D. Add the employee to a group with policies to grant access to relevant resources.

Correct Answer: D

QUESTION 5

Which three are default Virtual Cloud Network (VCN) components? (Choose three.)
A. Security List

B. Dynamic Routing Gateway

C. DHCP options

D. Internet Gateway

E. Route Table

Correct Answer: ACE

Reference: https://cloud.oracle.com/iaas/whitepapers/vcn-deployment-guide.pdf
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